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Lesson 03
@ @ Practice Drill 1   ? ?

KEY

aaTranslate (6 answers):
levgw I speak he speaks levgei they are giving divdoasi

levgete you speak he is speaking levgei divdote you give

""Parse (32 answers):

Tense(Function) Voice Mood Person Number Lexical Form Translation
levgw (8 answers): Pres (Desc) - Act - Ind - 1 - S - levgw - I speak

divdomen (8 ans): Pres (Desc) - Act - Ind - 1 - P - divdwmi - we give

levgete (8 ans): Pres (Desc) - Act - Ind - 2 - P - levgw - you speak

divdw" (8 ans): Pres (Desc) - Act - Ind - 2 - S - divdwm - you give

vvConjugate (12 answers):
The Present Active Indicative forms of levgw (6 answers):
Person: Singular: Plural
First: levgw levgomen

Second: levgei" levgete

Third: levgei levgousi (n)

The Present Active Indicative forms of divdwmi (6 answers):
Person: Singular: Plural
First: divdwmi divdomen

Second: divdw" divdote

Third: divdwsi divdoasi
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= 1/4 error per word Minus Pts.
Times           2.00 Missed       ______.____

  ______________             ____________

Total Pts. Missed   ________.____ Grade        ______.____
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